29 Questions

Que. 1 Direction: Below is the table showing marks obtained by 5 students in different subjects out of 100.

Marks Obtained
Name (Out 0of 100)
English(Maths|History|Chemistry |Biology

Riddhi| 68 92 74 83 -

Sruti 51 95 75 98 65
Pragya| 12 84 44 51 59
Mohor| 77 58 56 73 85
Kotha| 45 86 59 70 62

What is the ratio between marks obtained by Sruti in English and Mohor in Biology?
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Correct Option - 4

Marks obtained by Sruti in English = 51

Marks obtained by Mohor in Biology = 85
=~ Ratio between marks obtained by Sruti in English and Mohor in Biology =51 :85=3:5
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Correct Option - 4
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Que. 2 What is the average marks of Riddhi in all subjects?

1. 49
2. 47
3. 56
4. Data cannot be determined

Correct Option - 4
Total marks obtained by Riddhi in all subjects = (68 + 92 + 74 + 83 + x) =317 +x

~ Data cannot be determined.
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Que. 3 What percentage of marks is obtained by Pragya in all subjects?

1. 61%
2. 13%
3. 50%
4. 92%

Correct Option - 3
Total marks obtained by Pragya in all subjects = (12 + 84 + 44 + 51 + 59) =250

=~ Percentage of marks Pragya obtained in all subjects = (250/500) x 100 = 50%
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Correct Option - 3
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- U g1 o} fawai o Ure 3l &bl Ufa=Id = (250/500) x 100 = 50%

Que. 4 The-correct sequence of objectives of affective domain according to Bloom’s Taxonomy is

1
2.
3.
4

Receiving — Responding — Valuing — Organisation — Characterisation
Receiving — Valuing — Responding — Organisation — Characterisation
Receiving — Organisation — Characterisation — Valuing — Responding

Valuing — Receiving — Organisation — Responding — Characterisation

Correct Option - 1

Objectives in the affective domain concern feelings and attitudes that students are expected to develop as a
result of instruction. There is no doubt that a lot of confusion prevails with regard to the statement of objectives
in the affective domain, as compared to the cognitive domain. Terms like interest, appreciation, values, attitudes,
etc., give varying shades of meaning.

@2 Key Points

Receiving (attending and awareness): This is the first and the lowest level of the objectives under an
affective domain. At this level, we are concerned with the student's sensitivity to certain stimuli; that is,
whether (s)he is willing to receive or attend to the stimuli.

Responding (acting, feelings, movement, and change): It is the next higher level to simple awareness or
attention. This category implies greater motivation and regularity in attendance.

Valuing (worth, utility, and cause-effect relationship): This is the third level under the affective domain
and implies a commitment to certain ideals or values. This objective

includes the development of attitudes.

Organization (judging, integrating, and categorizing): This level pertains to building a system of values.
At this level, values are conceptualized and conflicts between the values are resolved and interrelationships
are established.

Characterization (sustained use of new values and expressions of commitment): Characterisation by a
value and set of values is at the top of the affective domain. It regulates a person's behavior through certain
values, ideas, or beliefs and the integration of values and attitudes into a world view or total philosophy of
life of his own.

Hence, it can be concluded that Receiving — Responding — Valuing — Organisation — Characterisation
is the correct sequence of objectives of the affective domain according to Bloom’s Taxonomy.
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Que. 5 Which of the following is not part of the triangle of Evaluation?

1. Educational Objectives
2. Evaluation

3. Teaching Experiences
4

Learning Experiences

Correct Option - 3

Evaluation is an integral part of any teaching and learning process. It is the process that determines the extent to
which an objective has been attained, the effectiveness of the teaching and learning experience, and how the
goals of evaluation have been accomplished.

@ Key Points

The Evaluation Process depends on Three Pillars:

1. Educational Objectives: Objectives may be general or specific. General objectives include appraising the
changes in student behavior, relating measurement to the goals of the instruction, etc. The specific
objective includes diagnosing the weaknesses of students, testing the development of skills in students, etc.

2. Learning Experiences: These are planned and organized based on the objectives. It refers to any
interaction, course, program, or other experience in which learning takes place.

3. Tools and Techniques of Evaluation: It is needed to discover the extent of effectiveness of the
experiences at every stage in the learning process to bring out the desired changes in students. It is a
continuous process occurring at periodical intervals.
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Hence, it can be seen from the given points that teaching experiences are not a part of the triangle of evaluation.
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Que. 6 Match List I with List-II. List I gives the methods of teaching in Institutions of higher learning while
List II provides the techniques of increasing effectiveness of the method.

List I List I1
Methods of teaching Practices

Using tools to

(A)[Lecture method |(I) demonstrate a fact

The commonly

Demonstrative and frequently
(B) method (I used method in the
classroom
Problem- Learning by
© solving method (I exploration
Gaining
Heuristic knowledge by
(D) method (V) solving multiple
problems

Choose the correct answer from the option given below :

L. (A)- ), (B) - (IV), (C) - (I), (D) - (IT)
2. (A)- (D), (B)- (1), (C) - (ID), (D) - IV)



3. (A)- (D), (B)- (D), (C) - (IV), (D) - (II)
4. (A)-(1V), (B) - (D), (C) - (D), (D) - (D

Correct Option - 3

The teaching stimulates and directs the learning of students. Teaching essentially helps students to acquire
knowledge and understanding, and develop skills, attitudes, values, and appreciation leading to change in
behavior. The methods of teaching commonly in use can be grouped as teaching methods in the classroom
setting.

2 Key Points

Methods of

teaching Practices

e The lecture method is one
of the most commonly used
methods in teaching.

e [t is a method of teaching
whereby the teacher attempts
to explain facts, principles, or
relationships to help students
to understand.

e The teacher is an active
participant, the students
are the passive listeners.

¢ The teacher talks more or less
continuously to the class.

e The class listens, writes, and
notes facts and ideas for
remembering and to think
them over later.

e Usually, the students do not
converse with the teacher
during lectures by the
teacher.

o Itis a one-way method.

Lecture
method

Demonstrative e The most effective method

method for the development of
skills is the demonstration
method.

e The demonstration is defined
as a method of teaching by
exhibition and explanation.

e It implies the presence of
organized series of events
or equipment for a group of
students for their
observation.

o Salient features, utility, the
efficiency of each article,
each step of a procedure,
experiment are explained.




e Itis a combination of
lecture and laboratory
work.

¢ The students may or may not
be involved while
demonstrations are done by
the teacher. Students usually
make observations, listen and
write down notes.

¢ Often this method is
referred to as lecture-
demonstration or
demonstration-lecture.

¢ In this method theory and
practice go hand in hand.

e In a problem-solving
method, students learn by
working on problems.

¢ This enables the students to
learn new knowledge by
facing the problems to be
solved.

e The students are expected
to observe, understand,
analyze, interpret find
solutions, and perform
applications that lead to a
holistic understanding of
the concept.

Problem-
solving method

¢ The heuristic method of
teaching is an economic and
fast strategy.

¢ In the Heuristic method,
the student must be an
independent discoverer. So
there is no teacher help or

Heuristic guidance in this method.

method ¢ In this method, the teacher
poses a problem to the
students, then stands aside
while they discover the
answer.

e Thus the students learn by
exploration.

Hence the correct match is (4) - (II), (B) - (I), (C) - (IV), (D) - (II])
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Que. 7 Which of the following statement best describes the principles of research ethics?

1.  When a researcher publishes previously published material by himself, it is not plagiarism.
2. Following standard research ethics is the sole responsibility of the Institute.

3. Ethics in research lays the bounds of discipline for a researcher.
4

Standard research ethics changes from person to person.

Correct Option - 3
Ethics in research:

e FEthics are the moral principles or norms that should be followed by everyone irrespective of time and
place.

e Research ethics implies fair conduct and distinguishing between right and wrong.

o [t refers to the adherence to the publication norms and practices while conducting the research process.

¢ [t emphasizes the original study, plagiarism-free contents, presentation of true facts and figures in the
research article, and avoidance of dubious means associated with research activities.

2 Key Points

When a researcher publishes previously published material by himself, it is not plagiarism: Incorrect

¢ Auto-plagiarism, also known as self-plagiarism or duplication.

e [t happens when an author reuses significant portions of his or her previously published work without
attribution.

e Thus, this type of plagiarism is most likely to involve published researchers, rather than university
students.

e The severity of this kind of infraction is under debate, depending on the copied content.

e Many academic journals, however, have strict criteria on the percentage of author’s work that is reusable.

e This is another form of plagiarism.

Following standard research ethics is the sole responsibility of the Institute: Incorrect

¢ Following the principles of ethics is not the sole responsibility of the institute.
e Itis an individual's personal responsibility to avoid ethical transgression.

Standard research ethics changes from person to person: Incorrect

¢ Ethics is the same for everyone, it does not differ from person to person.
e [t is a set of principles that is to be followed by all irrespective of position, experience and qualification.

Thus, the correct statement is ethics in research lays the bounds of discipline for a researcher.
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Que. 8 One of the characteristics of probability sampling is

1. Population bias

2. sampling bias

3. Random selection
4

Accidental selection
Correct Option - 3
The correct option is: Random selection

A Important Points

Probability sampling is a sampling technique used in research and statistics, where each member of the
population has a known and equal chance of being selected to be part of the sample.

e [t is based on the principle of random selection.
e In probability sampling, every individual or element in the population has a non-zero chance of being
selected for the sample.

¢ This ensures that the sample is representative of the entire population and helps reduce bias in the selection

process.

Population bias:



e Population bias refers to the distortion or non-representativeness of the sample due to the
characteristics of the population being studied.
e This is not a characteristic of probability sampling.

Sampling bias:

e Sampling bias occurs when some members of the population are more likely to be included in the sample
than others, leading to an unrepresentative sample.
e Probability sampling aims to reduce sampling bias through random selection.

Accidental selection:

e Accidental selection, also known as convenience sampling, is a non-probability sampling method
where researchers choose individuals who are readily available or easily accessible.
¢ [t does not involve random selection and may lead to bias in the sample.

Therefore, the correct characteristic of probability sampling is option 3) Random selection.
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Que. 9 Which of the following is not a characteristics of ex post facto research design?

1
2.
3.
4

The research has control or a comparison group
The research focuses on the effects
The research tries to analyze the ‘how’ and ‘what” aspect of an event

Ex Post Facto research subjects are randomly assigned.

Correct Option - 4

Ex post facto study or after-the-fact research is a category of research design in which the investigation
starts after the fact has occurred without interference from the researcher. For example, if there has been an
economical recession in a country and the researcher tries to analyze the ‘cause’ or reason behind such a
recession (which is the ‘effect’).

An ex post facto research design is a method in which groups with qualities that already exist are
compared on some dependent variable. Also known as "after the fact" research, an ex post facto design
is considered quasi-experimental because the subjects are not randomly assigned - they are grouped
based on a particular characteristic or trait.

Although differing groups are analyzed and compared in regards to independent and dependent variables it
is not a true experiment because it lacks random assignment.

Ex-post-facto research can be defined as an empirically based investigation that does not involve the
researchers’ direct control over the independent variables because they have already led to effects that
can no Ex-Post Facto Research more be manipulated.

The assignment of subjects to different groups is based on whichever variable is of interest to the
researchers.

On basis of the occurring events, there can be two designs or forms of research and these are Prospective
research design and Retrospective research design.

Characteristics of ex post facto design

1. The research has control or a comparison group

As the research is done on basis of the study of the cause which has already led to its effects, it becomes
necessary for the researcher to keep a control group, which can be used for comparison with the actual
experimental group later on, in order to analyze the cause of an already occurred event.

2. The behavior, action, event or the treatment or the independent variable of the research cannot be

manipulated or changed

3. The research focuses on the effects

. Only after having a detailed study of the phenomena or the event, the researcher tries to determine the
causes behind such an event or phenomena.

4. The research tries to analyze the ‘how’ and ‘what’ aspect of an event

Since the researcher tries to understand the causal effects behind phenomena, the research basically
focuses on how and what reasons have led that phenomena to occur.

5. Explores possible effects and causes



With the help of ex-post-facto research, the researcher tries to analyze the cause and effect phenomena of
an event, action, or behavior.

Conclusion: In Ex Post Facto research subjects are not randomly assigned, the dependent variable is measured
first and any number of hypotheses can be supported. It also requires a control group but rigorous control is not
possible. Hence, option (4) is correct.
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Que. 10 The Film and TV Institute of India is situated in

1. Mumbai
2.  Delhi

3. Pune

4. Lucknow

Correct Option - 3
The correct answer is Pune.

@2 Key Points

e The Film and Television Institute of India (FTII) was set up by the Government of India in 1960, in
the premises of the erstwhile Prabhat Studios in Pune.

e Current Chairman: Shekhar Kapur.

e The Film and Television Institute of India (FTII) was established in the year 1960 and was formerly known
the 'Film Institute of India'. It was a department of the Ministry of Information and Broadcasting of the
Government of India.

e In 1971, FTII came to be known as the 'Film and Television Institute of India' (FTII) and soon started in-
service training programs for Doordarshan, India's public broadcaster. The Television Training wing,
which was earlier functioning in New Delhi, shifted to Pune in 1974. Thereafter, the institute became fully
aided by the Ministry of Information and Broadcasting.

e Today, FTII is recognised as a centre for excellence in audiovisual media across the world and one of the
best film institutes in India.

5} Additional Information

e The National School of Drama (NSD) is an autonomous organisation under the Ministry of Culture as well
as a training institute for theatre located at New Delhi.

e The National School of Drama is one of the foremost theatre training institutions in the world and
the only one of its kind in India.

e |t was set up by the Sangeet Natak Akademi as one of its constituent units in 1959.

e In 1975, it became an independent entity and was registered as an autonomous organization under the
Societies Registration Act XXI of 1860, fully financed by the Ministry of Culture, Government of India.

e Current Chairman: Shri Paresh Rawal
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Que. 11 A conference or a meeting or even a mela or procession is a 'communication event', newspapers, radio,
cinema and television are communication media ', phones, computers, satellites and the internet are
'communication .

1. spaces

2. media

3. technologies
4

process

Correct Option - 3
The correct answer is 'communication technologies'

@) Key Points

e Communication Technologies:
o Communication technologies refer to the tools and systems used for transmitting, receiving, and
processing information.
o Examples include phones, computers, satellites, and the internet.
o These technologies enable the exchange of information across various platforms and distances,
making global communication possible.

5} Additional Information

e Communication Spaces:



o Communication spaces refer to the physical or virtual places where communication occurs, such as
meeting rooms, chat rooms, or social media platforms.
o They are not the tools or systems used for communication but rather the environments in which
communication happens.
e Communication Media:
o Communication media refer to the channels through which information is conveyed, such as
newspapers, radio, cinema, and television.
o While they play a crucial role in the dissemination of information, they are distinct from the
technologies that enable communication.
e Communication Process:
o The communication process involves the steps and elements involved in exchanging information,
including encoding, transmitting, receiving, and decoding messages.
o Itis a broader concept that encompasses the entire act of communication rather than specific tools or

technologies.
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Que. 12 Which is the greatest ratio among the following?
8 4 1 1
5z and gy
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Correct Option - 2
Given:-

1. 8/11
2.4/5
3.172
4.1/11
Solution:

To determine the greatest ratio, we can compare the fractions by converting them to a common denominator or
by comparing their decimal values.

1. Convert each fraction to decimal form:
8/11=0.727

4/5=0.8

1/2=0.5

1/11 = 0.091

2. Compare the decimal values:

0.8 (4/5)>0.727 (8/11) > 0.5 (1/2) > 0.091 (1/11)

Final Answer: The greatest ratio among the given options is 4/5.
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8/11 = 0.727

4/5=0.8

12=0.5

1/11 = 0.091

0.8 (4/5) > 0.727 (8/11) > 0.5 (1/2) > 0.091 (1/11)

Siferw IR U T fawedl & a9 §1ST 31uTd 4/5 |

Que. 13 After selling 110 oranges, a shopkeeper claims that he makes a profit equal to the selling price of 22
oranges. Find the profit percentage of the shopkeeper.

1. 75%
2. 80%
3. 22%
4. 25%

Correct Option - 4
Given:

After selling 110 oranges, profit = selling price of 22 oranges

Formula used:

Profit t Profit 100
TOo11 ercentage = —m—
p £ Cost Price

Calculation:

Let SP of 1 orange = X1 (for simplicity)

Total SP of 110 oranges = 110 x 1 =110

Profit = SP of 22 oranges =22 x 1 =322
Therefore, CP of 110 oranges = Total SP - Profit
= CP of 110 oranges = 110 - 22 =88

CP of 1 orange =388/110 =%0.8

22
Profit percentage = 28 x 100

= Profit percentage = 25%

~ The correct answer is option (4).
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2. 80%
3. 22%
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Correct Option - 4

fear T 3
110 HeR o & dlg, A1Y = 22 HeRl &1 fdhg o3

WY A:

A faerd = Lﬁt_ x 100
Cost Price

TUTHT:

T o 1 ek &1 faehd Jed = 31 (IRAAT & )
110 YRl &1 e fasha &I = 110 x 1 =110
MY = 22 R BT fahg G =22 x 1 =322

ST, 110 HeRI &1 hd Gl = Hd [dehd Gl - ATH
= 110 YRl BT HT e = 110 - 22 = 88

1 R 1 o Hed = 288/110 = 0.8

Y gfaerd = g % 100
= TTH Ufd=Id = 25%
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Que. 14 Depending on the intention which of the following logical informal fallacies may be involved in the
following argument - 'T am shocked to hear you preaching atheism. Does your father know you believe
that?'

(A) Appeal to authority
(B) Appeal to emotion

(C) Appeal to majority

(D) Appeal to force

Choose the correct answer from the options given below:

1. AandD Only
2. Aand B Only
3. Band D Only
4. BandC Only

Correct Option - 1
A fallacy is a defect in an argument due to a flaw in reasoning or the creation of an illusion.

2 Key Points

e The fallacy of appeal to force occurs when the arguer tries to convince the conclusion, saying that person
is either implicitly or explicitly that some harm will come.
o For Example, Does your father know you believe that?
e Here, the arguer tries to persuade him through treat by telling him implicitly that he shall tell to his father.
e The appeal to authority fallacy is the mistaken belief that something is true because an authorized
person said it.
o For Example, "I am shocked to hear you preaching atheism."
¢ In this case, does the arguer have the authority to talk about atheism?

Thus, the correct answer from options A and D Only.



%;; Additional Information

e Appeal to authority is the manipulation of the recipient's emotions in order to win an argument,
particularly in the absence of factual evidence.

e Appeal to the majority is an argument, often emotively laden for the acceptance of an unproved conclusion
by adducing irrelevant evidence based on the feelings, prejudices, or beliefs of a large group of people.
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Que. 15 I[f the statement "Some rectangles are not squares" is given as true, then according to the square of
opposition which of the following statements can by immediately inferred to be false ?

1. All rectangles are squares.

2. Some rectangles are squares.



3. No rectangles are squares.

4. Some squares are not rectangles.

Correct Option - 1
The correct response is All rectangles are squares.

) Key Points

e A square of opposition is a diagram that represents the logical relations between four propositions. Given
the statement "Some rectangles are not squares," we are working within the realm of categorical logic.

¢ This statement is an I statement in traditional logic (Some S is not P), indicating that there is at least one
instance of the subject (rectangles) that does not fall under the predicate category (squares).

e Ifit's true that "Some rectangles are not squares," it directly contradicts the universal affirmation that all
rectangles are squares. It implies there is at least one rectangle that isn't a square, making it impossible for
all rectangles to be squares.

e According to the square of opposition, a particular negative statement (Some S is not P) makes the
universal affirmative statement (All S is P) necessarily false.

52' Additional Information

The square of opposition helps in understanding the logical relationships between statements by illustrating how
the truth of one proposition affects the truth values of others related to it. The basic structure involves:

e Universal affirmative (A): All S are P

e Universal negative (E): No S are P

e Particular affirmative (I): Some S are P

e Particular negative (O): Some S are not P
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Que. 16 In Communication, denotation is the level of

1. Belief

2. Contrast
3. Description
4.

Dissent

Correct Option - 3
@) Key Points

The answer is 3) Description.
Denotation:

¢ Denotation is the literal meaning of a word or phrase. It is the dictionary definition of a word.
¢ Denotation is important in communication because it allows people to share information and ideas clearly
and unambiguously.

Contrast, belief, and dissent are all important concepts in communication, but they are not the same as
denotation.

e Contrast is the comparison of two or more things in order to highlight their differences.
¢ Belief is an acceptance that something is true, even without proof.
e Dissent is disagreement or opposition to a particular idea or course of action.

Here are some examples of denotation in communication:

e The word "dog" denotes a four-legged, furry animal that is often kept as a pet.

e The phrase "the sky is blue" denotes that the sky appears blue due to how sunlight interacts with the
atmosphere.

e The sentence "I am a student" denotes the fact that the speaker is enrolled in a school or educational
institution.

Denotation is an important part of communication because it allows people to share information and ideas
in a clear and unambiguous way.

By understanding the denotation of words and phrases, people can communicate more effectively and avoid
misunderstandings.
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Correct Option - 3

@2 Key Points
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Que. 17  World Wide Web (WWW) was invented by whom?

1. Alan Turing

2. Steve Jobs

3. Bill Gates

4. Tim Berners-Lee

Correct Option - 4
World Wide Web, which is also known as the Web, is a collection of websites or web pages stored in web
servers and connected to local computers through the internet.

@) Key Point

e Sir Tim Berners-Lee invented the World Wide Web in 1989.
e Sir Tim is the Director of the World Wide Web Consortium.
¢ Berners-Lee is now dedicated to enhancing and protecting the web’s future.

Thus, World Wide Web (WWW) was invented by Tim Berners-Lee.
£ Additional Information

¢ Alan Turing's most notable work today is as a computer scientist. In 1936.

e He developed the idea for the Universal Turing Machine.

e Steve Jobs was a charismatic pioneer of the personal computer era. With Steve Wozniak, Jobs founded
Apple Inc. in 1976.



¢ Bill Gates co-founded Microsoft Corporation in 1975 with Paul Allen and led the company to become

the worldwide leader in business and personal software and services.
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Que. 18 The classification of computers into generations is based on the evolution of their hardware and

technological architecture. Which of the following options correctly identifies the major technology

used during the first through the fifth generations of computers?

1
2.
3.
4

Vacuum tubes, Transistors, Integrated Circuits, Microprocessors, Artificial Intelligence
Punch cards, Vacuum tubes, Transistors, Microprocessors, Quantum Computing
Transistors, Vacuum tubes, Microprocessors, Integrated Circuits, Artificial Intelligence

Vacuum tubes, Transistors, Punch cards, Microprocessors, Quantum Computing

Correct Option - 1
2 Key Points

The correct option for the major technology used in each generation of computers is: A) Vacuum tubes,
Transistors, Integrated Circuits, Microprocessors, Artificial Intelligence

Here's why the other options are incorrect:

¢ B) Punch cards: While punch cards were a common input method for first-generation computers, they

wouldn't be considered the major technological foundation. Quantum computing is still in its early stages
and wouldn't fit in the sequence of established generations.

e () Transistors before Vacuum tubes: The historical order places Vacuum tubes in the first generation

followed by Transistors in the second.

¢ D) Punch cards and Quantum computing: As mentioned previously, these elements don't align with the

technological landmarks for each generation.

Therefore, A correctly identifies the primary technologies driving each major stage in computer evolution:

Ist Generation (1940s-1950s): Vacuum tubes

2nd Generation (1950s-1960s): Transistors

3rd Generation (1960s-1970s): Integrated Circuits

4th Generation (1970s-Present): Microprocessors

5th Generation (Present and beyond): Artificial Intelligence (emerging as a defining characteristic
alongside Microprocessors)

Que. 18 FHuIeR| o1 Wil & TN 3% BTSaTR 3R U] aRgdb el & [adh R STUTRd g | FafaRad &

I B 1 fahed Hugex &1 Uga I Uradl Tl & SR SUTN &1 S aTell T b1 & gal uga

HIAT13?



2. Ug@TS, dRgH ogd, TIoReR, ATSHIVIRRR, HicH dogfeT
4. JFgH g4, TifoReR, U9 TS, ATSHINIRRR, HicH dofeT

Correct Option - 1

2 Key Points
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Que. 19 The magnitude of the earthquake is measured on Richter scale. Which value or above on Richter scale
can cause damage from falling things?

~N N L B

1

2.
3.
4
Correct Option - 2

Richter scale quantitative measure of an earthquake's magnitude was devised in 1935 by American seismologists

Charles F. Richter and Beno Gutenberg.

¢ The earthquake's magnitude is determined using the logarithm of the amplitude (height) of the largest
seismic wave calibrated to a scale by a seismograph.

A Important Points

1. The Richter magnitude of an earthquake is determined from the logarithm of the amplitude of waves
recorded by seismographs.

2. A magnitude of 5 and above can cause damage from falling things.

3. This can damage a moderate number of well-built structures in populated areas.



Hence, The Richter scale magnitude of 5 and above can cause damage from falling things.

Que. 19 1Y &1 diigal Raex THM TR 919! 9rct 31 Raex TaM IR SH-91 4H a1 39 1 axgell & iR 9
& UgaT BT HRUT & Yhell 82

1. 4.0
2. 50
3. 6.0
4. 170

Correct Option - 2

™ T, Yo & UNRHT0 &1 AT A, 1935 T SR Ydhufasi arcd U, Raex 3R a1 e gRT
TR faar T AT

- YU & GRHTUN BT FYR T 51 YH U T & SR (Hd18) P TGS BT TN B (a1 STl 3,
ford Tt gRT T T TR Siiiford fora ST 81

A Important Points

1. T YU & feaex afedmor &1 ReyRor R gR1 &Sl a & S & Ao § fhar S g |
2.5 3R 3TN 3if¥e & ufkumor iR aegait & fRA 1 711 81 Iavet 71
3. T8 ST AT &1 H ot ave ¥ fAfta Txammaefl & meaw e & g1 ugan 9hdi ¢ |

3fc:, Rae? UM WR 5 3R 39 i & ufewmor W axgsi & A 3 g1 8 Il 31

Que. 20 Consider the following statements about the Montreal Protocol:

1. The Montreal Protocol is designed to phase out the production and consumption of ozone-depleting substances
(ODS).

2. The protocol was signed in 1989.

3. Hydrofluorocarbons (HFCs) are covered under the Montreal Protocol.

Which of the above statements is/are correct?

1. 1only

2. 1land2only
3. 1land3only
4. 1,2,and 3

Correct Option - 3
The correct answer is 1 and 3 only.

@2 Key Points

Details about the Montreal Protocol

e Statement 1: The Montreal Protocol is designed to phase out the production and consumption of 0zone-
depleting substances (ODS).
o This statement is correct as it aligns with the primary objective of the Montreal Protocol to regulate
and phase out ODS to protect the ozone layer.
e Statement 2: The Protocol was signed in 1989.
o This statement is incorrect because the Montreal Protocol was adopted on 16 September 1987, not
1989.
e Statement 3: Hydrofluorocarbons (HFCs) are covered under the Montreal Protocol.



o This statement is correct as HFCs are included under Annex F of the treaty, showing the protocol's
evolution to encompass these substances despite their non-ODS nature but significant global
warming potential.

%;; Additional Information

e The Montreal Protocol is one of the most successful and universally adopted environmental treaties,

aiming to protect the ozone layer.
¢ [t includes differentiated responsibilities for developed and developing countries but requires binding,
time-targeted, and measurable commitments from all parties.

Que. 20 AifTd UICIPpId & IR H FEfRad Sy R faR Sifor:

1. i ad MCidld ol URd &1 JH9H Ggdm did UGl (ODS) & IdTe R WUd &1 aRUEG dRid o FaTd
IR P U s T |

2. Uicioid &R 1989 | ¥1eR fhg e 4

3. BISSIUARIBIEH (HFCs) Hifdd Weldhid & faiid 3Md g

SR 8 I DI T/A HYF 61 /87

I &ad |

2. Had138iR2
3. FHad 183
4. 1,23R3

Correct Option - 3

5! SR had 1 3R 3 T

@2 Key Points
Aifad Melpia & I | faawor
. FYA 1: Aif<Td WD Id IS IRd HI JHHM Tga aral Gerif (0DS) & IdTE 3R [WUd 6! aRUES
T T T A & o ST T ] |
o UE HYF Tl § HIfP T8 Hifead Meldbld & WIS LRI & AU g, S IS4 URd B I8 &b
fore ops & fafafia SR TRuEg die T U FRAT |
. PYT2: UAIDId W 1989 H g&IER fHU MU |
o TG HYF TTAd ¢ T Al Td WIcIhId & 16 FRIGER 1987 BT ST 7T AT, 1989 g1 |
« PYA 3: TRSITIRIBIE (HFCs) Al ad Meldbid & Adifd 3 g |
o T8 HY- T) § TP HFCs B T & e F & dgd i foar mar 8, st Meldia & fawr &t
a8, s g9 uerdf o) =nfira fosar man 8, 4a 81 3 ops T8 €, Aftr 391 afyyes aroH W
Heayuf yHa B |

%;; Additional Information
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. 399 faRyd 3R famra<ia 3t & forw fanfeq frmieiar Wit 8, dfe= g+t uell ¥ Toer), grgeg
3R AU TR Ufdagarsii & aRasdi g |

Que. 21 Given below are two statements:



Statement I : Due to climate change, Arctic sea ice is significantly thinner now than about a century ago
Statement II : Due to climate change, tropical regions have warmed much faster than rest of the world.

In the light of the above statements, choose the most appropriate answer from the options given below.

1 Both Statement I and Statement II are correct

2.  Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4

Statement I is incorrect but Statement II is correct

Correct Option - 3
2 Key Points

Statement I : Due to climate change, Arctic sea ice is significantly thinner now than about a century ago

e Statement I: "Due to climate change, Arctic sea ice is significantly thinner now than about a century ago."
This statement is correct. Climate change has led to a warming of the Arctic region, resulting in the
melting and thinning of Arctic sea ice. Numerous scientific studies and observations support this finding.

Statement II : Due to climate change, tropical regions have warmed much faster than the rest of the world.

e Statement II: "Due to climate change, tropical regions have warmed much faster than the rest of the
world." This statement is incorrect.

¢ Climate change is a global phenomenon, and while different regions may experience varying rates of
warming, the statement that tropical regions have warmed much faster than the rest of the world is not
accurate.

¢ In reality, warming trends are evident in various regions across the globe, and different regions may
experience distinct temperature changes, but none can be definitively stated as warming much faster than
the rest.

There is a wealth of scientific evidence to support both of these statements.

e For example, a 2019 study by the National Snow and Ice Data Center found that Arctic sea ice
thickness has declined by an average of 1.3 meters since 1980.

¢ And a 2018 study by the Intergovernmental Panel on Climate Change (IPCC) found that tropical regions
have warmed by an average of 0.2 degrees Celsius per decade since the late 19th century.

Hence, Statement I is correct but Statement II is incorrect

Que.21 R HYF UMW E:

FHY 1 : TAaR IRAT & HRUT IR YA T 3T T U Wlec Yd Bt Ja-1 & 31d At 7 81 718 6|
HY 11 : STAIRY YA & HRUI Y fqy B Ui Wb easa &= it g 1fd § RA gu gl

JRIGd HYA & el |, i faT 7 fodwed! & T T4 ST IR BT 994 Difod |

I ®YT1 3R 11 Jel g
2. HYTI3R 1A Tad B
3. YT 1 IE ¢ AfhT HYT 11 7Teld B
4. HYF1TTed 8, AT HYUT 11 Gel B

Correct Option - 3

@2 Key Points
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« "HYA I : TAIY YR P HRUT IR YA T fgH ATHT U clTed] Yd BT go1 & 37d SHATIb HgH
BT 21" U8 U TEI ¢ | Sefary URadH &b BRI Sbfees & H Tl a1 7 2, e uRumasy
3dhfeds Tl Tt frad ok udeh 81 X6 B 1 3 I T 3R faciich-] 3 s o7 gHde I T

FY 11: TR YR & BRI XY {3y Ft 3rdem Iwrsfedda &= e dig 1fd d TRA T L

. $2F%I: "SR] URac & HRUT Y [y o 3riem Iwrasieatdia & siftie g 7fd § TRU gU & 1" I8 HuA
T B

. STarg URad U A ge 8, gaft faftr &= & arome B 9f B S1erT-SIelT <R BT Hd B JhdT B,
Tg HU b Swrmfesdia &7 gfar & a1t fewdl &t g & 9gd deit 9 74 §U E, Iur T8t &

. gRaq H, gfar WR & fafire & & ot & Sem Ty €, ofR fafts &t o Srer-SrerT araw uikad- o
eﬂuas’r%ﬂw%,WW@%ﬂﬁ@awﬁaﬁ%@ﬁmﬁwﬁﬁaﬁn%mﬁﬁw
ST BT g

3 a1 BY BT AT B & fore 9ga O ag=e ywmr disg g1

. JCTERU & oG, XM W TS 313 el e & 2019 o Teh 34T | Ui 747 fh 1980 & 91 ¥ 3 ed
T §th 31 Hiers B 3fvad 1.3 Wer &1 fiRtae o g1

o 3R FeWTHed UAd 3T Farghe 3 (3118 Ut It dh F 2018 & T 31w & uran 141 {1971 9t & 3id
I Iuim sty & Ul g=Ie SfdH 0.2 f&Ih AR T gu |

TYY, HYF | Tg1 @ AfPd HYT 11 Tad g

Que. 22 Match each educational body with its primary function:
Educational Body Function
A) UGC 1) Teacher education standards
B) NCTE 2) Funding and curriculum guidance
C) NCERT 3) Primary education resources
D) AICTE 4) Technical education standards

1. A-2,B-1,C-3,D-4
2. A-1,B-2,C-4,D-3
3. A-3,B-2,C-1,D-4
4. A-2,B-3,C-4,D-1

Correct Option - 1
The correct answer is 'A-2, B-1, C-3, D-4'

@2 Key Points

e UGC (University Grants Commission):

o UGC is responsible for providing funding to universities and colleges in India.

o It also offers curriculum guidance to ensure the quality and standard of higher education institutions.
e NCTE (National Council for Teacher Education):

o NCTE is dedicated to maintaining and improving teacher education standards in India.

o It sets norms and standards for the teacher education system.



¢ NCERT (National Council of Educational Research and Training):
o NCERT is focused on developing and distributing primary education resources.
o It creates textbooks and other educational materials for schools across India.
e AICTE (All India Council for Technical Education):
o AICTE is responsible for setting standards for technical education in India.
o [t accredits technical institutions and programs to ensure quality education.

5} Additional Information

¢ Incorrect Options:
o Option 2 (A-1, B-2, C-4, D-3): Incorrect as UGC does not set teacher education standards, and
AICTE does not provide primary education resources.
o Option 3 (A-3, B-2, C-1, D-4): Incorrect as UGC is not involved in primary education, and NCERT
does not set teacher education standards.
o Option 4 (A-2, B-3, C-4, D-1): Incorrect as NCTE does not provide primary education resources,
and AICTE is not responsible for teacher education standards.

Que. 22 TIH X M &1 I0d Udfies S ¥ i Hifor:
A T Hri
A) UGC 1) Rrere Rien e
B)NCTE  2) ¢ 3R Urag=df ARieRH
C)NCERT  3) Urffen fRrem e
D) AICTE  4) dd1dh! fR1& AFd

1. A-2,B-1,C-3,D-4
2. A-1,B-2,C-4,D-3
3. A-3,B-2,C-1,D4
4. A-2,B-3,C-4,D-1

Correct Option - 1
HEI ST 'A-2, B-1, C-3, D-4'

@2 Key Points

. UGC (fayfaemera srger smai):
o UGC HRd ¥ fayfaemeral 3k #eifemerdl &1 ¢4 U & & fie fSier 81
o g I fRI& IR &1 [ura 3R AHS AT H & e ureg=at AanieRH Hf geH s gl
- NCTE QT Rigrep fRiam ufkwe):
o NCTE YRd H e/ Riem Aw! &1 9918 357 3R 98k 991 & forg gaffa g1
o g fRerep fRrem vt & forw AMEs iR AFe RuiRd Hrar gl
- NCERT QTSI A& Srgaem 3R ufraror uRtve):
o NCERT Ut fRrem et & faenRid o 3R faaid & R bigd g1
o Ig Jguf HRd H Wil & forT UTeugeas 3R 3 Qe Ireht sHar 31
« AICTE (3f8d YR ao-to! fRiem ufiue):
o AICTE HRd H da-ie! fR1en & fo ames FMuffvd o5 & forg orieR 81
o g TUTaITYU! fR1& YA HA & o dapeiiapt TRIMT 3R BRIGBH! B1 A UeH HRal 5|

5} Additional Information




TTed faweu:
o fa®meu 2 (A-1, B-2, C-4, D-3): TTad & T UG Rreres Rrem A fuffvd 78t #ar g, siR AICTE
UTfies R1em T91eH UeH T8l Hars|
o faded 3 (A-3, B-2, C-1, D-4): TTAd & FIP UGC Uity fRiem & =nfiyer 78t 8, 3R NCERT e
e A il T8 eRar R
o faBed 4 (A-2, B-3, C-4, D-1): TTAd & IS NCTE Uity e Iqmeq ueM =8 &-ar 8, 3R AICTE
e Rrem e & forg SmeR 98 21

Que. 23 Which of the following has recommended that an Independent Regulatory Authority for Higher

1
2.
3.
4

Education (IRAHE) should replace NCTE, AICTE, UGC and others?

National Knowledge Commission
Yesh Pal Committee
National Policy on Education -1986

Kothari Education Commission

Correct Option - 1

On June 13th, 2005, the National Knowledge Commission was established as a high-level advisory body to
the Indian Prime Minister. In his speech, Indian Prime Minister Dr. Manmohan Singh outlined the aim for NKC.
“The time has come to create a second wave of institution building and excellence in the fields of education,
research and capacity building.”

@) Key Points

e The National Knowledge Commission (NKC) was established to address educational difficulties facing

schools in the twenty-first century. One of the most significant recent efforts to raise educational standards
is NKC. The National Knowledge Commission (NKC), chaired by Mr. Sam Pitroda, was established by
Prime Minister Dr. Manmohan Singh in June 2005 to develop a plan for reforming our knowledge-related
institutions and infrastructure that would enable India to tackle future challenges.

The report is a summary of the reform-related proposals for education made by NKC. The right to
education, English language proficiency, vocational education and training, higher education, medical
education, legal education, management education, open and distance education, and open educational
resources are some of these reforms. There are also ongoing in-depth consultations on schooling, technical
training, and attracting more students to the math and science streams.

A recommendation made by the National Knowledge Commission (NKC) was for the creation of an
independent regulatory body for higher education (IRAHE). In its plan, the IRAHE was to replace the
UGC, AICTE, NCTE, MCI, DEC, and other regulatory bodies. This would free up the UGC to concentrate
solely on funding activities while other regulatory bodies would be transformed into professional councils
tasked with establishing standards for professional conduct and qualifications.

Thus we can say that National Knowledge Commission has recommended that an Independent Regulatory
Authority for Higher Education (IRAHE) should replace NCTE, AICTE, UGC, and others.

%;; Additional Information

Some of its significant recommendations are:

1. The need for central legislation affirming the Right to Education.
2. The teaching of English as a language should be introduced, along with the child's first language (either

mother tongue or the regional language), starting from Class I.



7.

8.
9.

. Further, NKC has also focused on the need to reform the pedagogy of English language teaching and the

use of all available media to supplement traditional teaching methods.

. Changes in the school system which would encourage decentralisation, local autonomy in the management

of schools, and flexibility in the disbursal of funds.

. To improve quality and generate accountability, improve school infrastructure and revamp school

inspection with a more significant role for local stakeholders and transparency in the system.

. Information and Communication Technology (ICT) to be made more accessible to teachers, students, and

the administration.

The need for reforms in the curriculum and examination systems by moving away from rote learning to a
critical understanding of concepts

NKC suggested that the primary responsibility for school education is on the State Governments,

NKC also recommends both pre-service and in-service teacher education programmes

Que.23 fofafed o A fram R @t 8 i I=ar e & fo ues wad= fFames wifer c=is=<

1.

2
3.
4

ARt 31ARIE) B NCTE, AICTE, UGC 3R 370 & I TR UfRITIUT &1 anfee?

PG A ST

g HiHfa

ST e ifd - 1986
DISRI & 3ma

Correct Option - 1

13 S 2005 P1, HRAH TUTH H3i1 & RIT U I=-w{1g GagdR Fera & w0 § Ig1a 77 3 6t Rid=1
B T8 | S HTHOT &, HRTT T Tt SF 7die Rig 7 NKC & Ie=9 & i fobar| e, s iR
& Fafor & &3 B TR Fufor SiR IHTaT &1 gERt Tex S &1 99T ST T gl

) Key Points

ST I ST (NKC) BT RIUAT SFp1gdl Gl H Wl & I 31 arell Afaeb HiS1sal Bl g b &
forg &t 12 oft | Qe AT Bl oM & o B1e 81 H fPT U U Hewyut ol § ¥ ue NKC §1 o 31
fOsfaT 1 Sremerdn & P FH SMART (NKC) BT RITGHT S 2005 H G Hit ST, AFHIg Rig gRI $1 718 0
e SHR I § Faiferd TRAMT SR SMURYT AT H YR Bt Ao fAHRid & o 9o s YRa Higs
&1 g & e § gem 81 9o |

gg ROid NKC gRT e & forg fpu U gurR eieh vraral &1 IR g1 e &1 SR, el v |
TEUTdT, AT RI&m 3R UfRien, 3= e, fifaren fRiam, wr Rrem, veied Riem, goa sik gy e,
3R Gl QA T 370 9§ $© UR ¢ | Thall 1RI&, Th-11b! TR, 3R 31w SE! &1 T1iord iR fagme
DI 3R ATHNT HRA W T8 [aR-fauf Ia @R |

I & & iU e wda Fame e/ (IRAHE) & FHi0 & g g 919 SRt (NKC) 8RT 31 718 06
Rywrfe=r ot sot TsHT H, IRAHE &1 UGC, AICTE, NCTE, MCI, DEC 3R 3= e Al & dga
YTl I8 UGC P! GX1 e ¥ fod diwor fafafedl iR & ohfgd dra o o gad o s 3= fAams
Tl B URIaR SMTERUT 3R Il & ! B RITUT B o (04 HTH HR arel UReR URee! § 9gd faar
SITE |

39 UBR §H 8 Iod § 19 AP I AT A R &1 ¢ fo 3= Rian & o ve W= Frame mites
(IRAHE) & NCTE, AICTE, UGC, 3R 3/ &1 SFTg ol 91|
£ Additional Information
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2. % HINT & =0 H 3fFSh & RIS, S B Uglt HTNT (T df ATGHTST T &1 HIST) & 1Y BT | I R fopd
EISIEIRY

3. 3% SfQAAT, NKC = 3¥oi HToT fR1&0r & Rrefor § R &1 sazgdhd! iR IRuRS Rieor fafddl & e &
foro it Suasy Hifsar & Iught w ot e Ffed ferar g

4. T yoIel H gRacd of fadbsidmRur, Wod & e H RIMHTT Wradl 3R 6 & faaror & aeierd &1
TeTed B

5. Torarel & YR SR STaI6eg! S R b g, et & garet aid # UR 3R W fequrel & fog
3ty Tgwayut YAt iR Yol & URSRIAT & WY @ a e § guR FHRAT|

6. LI 3R TAR URNATDT (ICT) BT FR1erpl, ST 3R UM & oy 31fde oy a1

7.Q€Hﬁmﬁ§mmﬂmﬁaﬁwcﬁwmm TS BT 3R I5d gU UTdIadt 3R TRief yomelt & guR &
ALl

8. NKC = ggma faar fa et Rren ot urufiie Iareriid! st WRaHR! &1 g

9. TP FT SN a1 G4 3R Yarepren Riaep e Srishet 31 1 R sxan g |

Que. 24  Value education is about promoting
A. equality and social justice
B. national cohesion and democratic citizenship
C. rich cultural and spiritual heritage
D. religious practices and beliefs
E. sound moral and ethical principles

Choose the correct answer from the options given below:

1. B,C,DandE only
2. A,B,CandE only
3. C,DandE only
4. A,BandE only

Correct Option - 2

Value education is a holistic approach to education that emphasizes the development of a student's moral
and ethical values, as well as their intellectual and academic skills. The goal of value education is to help
students develop a strong moral and ethical character so that they can become responsible and productive
members of society.

@2 Key Points

Value education typically covers a wide range of topics, including human rights and responsibilities, social
justice, equality, peace, respect for diversity, and the environment. It may also address issues such as personal
integrity, honesty, trustworthiness, and self-discipline.

Value education is often integrated into the curriculum of schools and colleges, and may be taught as a separate
subject or woven into other subjects such as history, literature, and social studies. It may also be delivered
through extracurricular activities, such as community service projects, and may involve community leaders,
teachers, and parents.

A Important Points

Value education is about promoting the development of sound moral and ethical principles, rich cultural and
spiritual heritage, equality and social justice, national cohesion and democratic citizenship, and a respect
for diversity and tolerance. All of these elements contribute to a well-rounded and holistic education that
prepares students to be responsible and active members of society.

In particular, value education helps students understand the importance of ethical and moral values, such as
honesty, fairness, respect, and responsibility. It also provides students with an appreciation for cultural and



spiritual traditions and encourages them to think critically about social issues and to work towards creating a
more just and equitable society.

Therefore, the correct answer is A, B, C and E only.

Que. 24 Wﬁmﬂ (Value education)maﬁﬁmaﬂ?ﬁ%?
A. UG 3R IrATfore <

B. AP ARG IR b FRTREl

C. U< IR faw SR seanfares favma

D. TfHe Tt 3R fayrg

E. 3= Afas 3R forma gl

i feu U fawen O @ 9 SR IH:
l. FadB,C,D3RE

2. PHAAA,B,C3RE

3. FadC,DRE

4. PHAAA,B3RE

Correct Option - 2

TeawR® g Rign & e e auy =i 8 o te o & Afdw ok Afas geai & faem & ary-ary
I SfSP 3R Ve Pz = aa a1 81 Gou e o1 dea eyl o) te dod Hfae 8k Afae =i
9w RId B T Hag o1 ¢ dlids d YA & TR 3R IdTe® Jaxd a1 b |

@2 Key Points

TR & AR IR IR AFAYSR] R fordeia, Qe =am, Jamar, 2ifa, fafdear & forg g ok
qafervr Afgd Fs fawdl o1 MA Hcll o | T8 TG AT, SHHGR!, faya-adr $iR 31Te- SR S gel
@1 off TR R Thh B

IR FRIAT SRR Tpell 3R DIcisil b UTSAHH H Teblpdl 51l &, 3R 8 Teb 37eMT faug o =0 H UG Sl
Tl § 31 3, WMo SR Ao Sea oi 3 fawd! & g1 ST Hahdl § | I8 UTSAeR i o A1y ¥
1t v foran ST b B, S {3 Argeriies Jar ufkaieTy, iR 39w arere Adrsi, el iR Ardr-far &1
M foan o Tt g

A Important Points

TR e gd Afae ik Hifows Rigial, 9= dicpfas iR srumnfde favraa, gur«rn ik e
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3RT, T STR $ad A, B, C SR E B

Que. 25 In which city is the National School of Drama (NSD) located?

1. Mumbai

2. Pune



3. Delhi
4. Ahmedabad

Correct Option - 3

National School of Drama(NSD) is located in Delhi. It is an autonomous organization under Ministry of Culture,
Government of India. It was set up in 1959 by the Sangeet Natak Akademi, and became an independent school in
1975. In 2005 it was granted deemed university status, but in 2011 it was revoked on the institute's request.

Que. 25 T o T T forg weR A R 32
pies

o

feeel

SleHaldlq
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Correct Option - 3

T TR 3 ST (TTLES)) foedt # fRUd 8] 78 YR PR & Txpia HaTerd & 31e- Teb T e g
T ATeH SfBTEH 7 1959 B DT R 1 3R 1975 & T8 U Wi Wod & T 2005 B 39 Wi fayfaenea
T oIl feaT T, AT 2011 H TRIM & SRIY TR 3 IE, R a1 7]

Que. 26  Out of the following statements about the regulatory body in the field of higher education, which is not
correct ?

1. National Knowledge Commission under the leadership of Sam Pitroda in 2005 had proposed independent
regulatory authority for higher education institutions.

2. Yashpal Committee recommended single independent regulating authority for higher education
institutions.

3. Central Government has proposed to replace present regulatory bodies in the field of higher education
with a single regulatory body called Higher Education Empowerment Regulation Agency (HEERA).

4.  University Grants Commission (UGC) is the only existing regulatory body in higher education at
present.

Correct Option - 4

education at present.

# Important Points

e National Knowledge Commission under the leadership of Sam Pitroda in 2005 had proposed an
independent regulatory authority for higher education institutions.

e 82-year-old Professor Yashpal and his committee members have reported to the Ministry of Human
Resource Development and suggested the scrapping of all higher education regulatory bodies and the
creation of a super-regulator.

o A seven-member Commission for Higher Education and Research (CHER).

¢ The Central Government has proposed to do away with the All India Council for Technical Education
(AICTE) and the University Grants Commission (UGC) and replace them with a single body.

e The main aim & role of UGC in higher education is to provide funds to universities and coordinate,
determine & maintain the ethics in institutions of higher education.

Que. 26 I e & & & Fame =1 e IR § Fufifad sy & 3 o9 91 98 T8 82



L. 2005 H 39 fU31GT & g H AT 4 AN A I R TR & o Taed= e uritieror &1 uward
R
2. gRUTe FiHfd = = R YR & o Tehel W fafgae urfieor o1 Reia &

3. %y WHR A I e & &7 7 ada Hame Ferl o S fRien gufadeor fafam ol (HEERA)
IS Thd HaTHS GRIT & 1Y Sea- b1 U fear gl

4. fayfaene sMEM SN (UGC) Id9M § 3 e & U Aivel s Fem gl

Correct Option - 4
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Que. 27 Read the following passage carefully:

In the field of human sciences, interdisciplinary research can result from two separate but interrelated
needs. First is the 'need for information' and more data, and the second is the need for more common structures or
for analytical integration. At the first level, an interdisciplinary collaboration poses little or no problems. It
involves exchange of information among related disciplines in the belief that such exchange enriches a
discipline's understanding of the phenomena under study. A discipline's boundaries and autonomy in explanatory
terms are not eroded by interdisciplinary contacts at the level of information or data. It may sometimes lead to
adoption of common methods by related disciplines, which in turn, may pave the way for a possible integration
at the level of analysis or perspectives or interpretative scheme. The fulfillment of this second need for common
structures, or what we have termed as analytical integration, is beset with several difficulties. Unlike in the
natural sciences, in the social sciences there is no linear order of sciences ranged between 'decreasing generality'
and 'increasing complexity'. On the contrary, in some of the social sciences, there is a marked tendency to reduce
explanations of diverse social phenomena to a single perspective peculiar to that science. Sociologists are often
accused of reducing everything to sociology and their reductionism is often pejoratively dubbed as 'sociological
inperialism' Similar tendencies are noticeable, with differences in degree, among some economists, political
scientists, linguists, psychologists, and so on.

Answer the following questions based on the facts/information described in the above passage:

Inter-disciplinary research in human sciences results from

1 Similar and diverse needs.

2. Multiple and conflicting needs.
3. Diverse and intra-related needs.
4

Two separate but inter-related needs.

Correct Option - 4
Inter-disciplinary research in human sciences results from two separate but inter-related needs.




2 Key Points

¢ Interdisciplinary research refers to the collaboration between researchers from different academic
disciplines to address complex problems or questions that cannot be tackled by a single discipline alone.

¢ In the field of human sciences, interdisciplinary research can result from two separate but
interrelated needs.

e The first need involves the exchange of information among related disciplines in the belief that such
exchange enriches a discipline's understanding of the phenomena under study.

e The second need involves the need for common structures or analytical integration, which is more
challenging and requires overcoming disciplinary boundaries and finding common ground.

e Opverall, interdisciplinary research in human sciences is driven by the need to address complex
problems or questions that cannot be tackled by a single discipline alone, and it requires both the
exchange of information and data as well as the development of more common structures or analytical
integration.

Thus, we can conclude that inter-disciplinary research in human sciences results from two separate but inter-
related needs.
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Que. 28 Interdisciplinary collaboration sometimes involves-

1
2.
3.
4

Adoption of different methods by discipline
Adoption of single method by diverse disciplines
Adoption of common method by related disciplines

Adopdtion of cross-method by one discipline

Correct Option - 3
Interdisciplinary collaboration sometimes involves_adoption of common method by related disciplines.

@ Key Points

Interdisciplinary collaboration sometimes involves the exchange of information among related
disciplines in the belief that such exchange enriches a discipline's understanding of the phenomena under
study.

This means that researchers from different fields come together to share their data and knowledge,
which can lead to a more comprehensive understanding of a particular issue or problem.

This level of interdisciplinary collaboration poses little or no problems and does not erode the boundaries
and autonomy of a discipline in explanatory terms.

It can sometimes lead to the adoption of common methods by related disciplines, which may pave the
way for possible integration at the level of analysis or perspectives or interpretative scheme.

However, this kind of collaboration is different from the need for more common structures or analytical
integration, which is more difficult to achieve.

Hence, we can conclude that interdisciplinary collaboration sometimes involves adoption of common method
by related disciplines.
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Que. 29 The difficulties in analytical integration are due to:

1
2.
3.
4

Social sciences having no linear order
Social sciences have pure experimental method
Social sciences are simpler in nature

Social sciences have more standardization

Correct Option - 1
The correct answer is social sciences having no linear order.

@) Key Points

The difficulties in analytical integration in interdisciplinary research in human sciences are due to
several factors.

One of the main challenges is that unlike in the natural sciences, there is no linear order of sciences
ranged between 'decreasing generality' and 'increasing complexity'.

In the social sciences, explanations of diverse social phenomena cannot always be reduced to a single
perspective peculiar to that science.

Sociologists, for instance, are often accused of reducing everything to sociology, while economists,
political scientists, linguists, psychologists, and other social scientists may also display similar tendencies,
albeit with differences in degree.

Furthermore, analytical integration requires the identification of common structures or analytical
frameworks that can be applied across different disciplines to produce a more comprehensive
understanding of the problem or issue under study.

However, identifying such common structures can be difficult because different disciplines may use
different methods, approaches, and theoretical frameworks to study the same problem or issue.
This can lead to challenges in comparing and contrasting findings, as well as in integrating different
perspectives into a coherent whole.

Overall, achieving analytical integration in interdisciplinary research in human sciences requires a
willingness to collaborate across disciplines, as well as an openness to different perspectives,
methods, and theoretical frameworks.

It also requires careful attention to the ways in which different disciplines conceptualize and study social
phenomena, in order to identify commonalities and develop shared analytical frameworks.

Therefore, the correct answer is social sciences having no linear order.
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